Geov—yv7

Selo Eicing

Made in Japan

KAWASAKI NINJA 300/ 250 ('13-)
ENGINE SLIDERS

part# K-25013ES

SOCKET HEAD
COLLAR 44-6 M6x80

[L] WASHER M10

SPLIT WASHER
M10

SLIDER BASE L1

SOCKET HEAD
M10x45

SOCKET HEAD M6x70 SLIDER PUCK

[SDR-L10-85MFJ]

COLLAR 35-6
SOCKET HEAD M6x15

SLIDER BASE L2

[R]

SOCKET HEAD M6x40

COLLAR 7-6

SLIDER PUCK
[SDR-L10-85MFJ]

SPLIT WASHER M10
SLIDEI; BASE

SOCKET HEAD
M10x45

WASHER M10 SOCKET HEAD

MBx40 COLLAR 5-6

satoracing.com



